Calcular Porcientos (G)

Calcule el porciento o valor que se pide.

. :Qué porciento de $3,500 es
$2,415?

. .Qué porciento de $9,640 es
$3,374?

- :Qué porciento de $8,950 es
$1,969?

. ;Qué porciento de $1,600 es
$3367

- ;Qué porciento de $2,575 es
$2,369?

10.

- :Qué porciento de $6,860 es

$3,773?

;Qué porciento de $5,000 es
$3,150?

. (Qué porciento de $4,800 es

$3,504?

. Qué porciento de $3,100 es
$2,945?

. Qué porciento de $9,950 es
$7967?
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Calcular Porcientos (G) Respuestas

Calcule el porciento o valor que se pide.

. ;(Qué porciento de $3,500 es
$2,415?
69%

. ;(Qué porciento de $9,640 es
$3,3747
35%

- :Qué porciento de $8,950 es
$1,969?
22%

. ;Qué porciento de $1,600 es
$3367
21%

. (Qué porciento de $2,575 es
$2,369?
92%

10.

- :Qué porciento de $6,860 es

$3,773?
55%

;Qué porciento de $5,000 es
$3,1507?
63%

. (Qué porciento de $4,800 es

$3,504?
73%

. Qué porciento de $3,100 es
$2,945?
95%

. Qué porciento de $9,950 es
$7967?
8%
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